B - 2%

ID/IDR #5717 E 5% RiE=S

—655—




ID/IDR % 547 2 & %2 I3l & 2%

Notes of product ordering

AR B 1T 135 AR

ID series

Precision Planetary Gear Boxes

Rotio/ig i kb i=3:1 ~100:1
Backlash/[51 72 &) fg <2 arcmin
Output torque/$54E ~2000N.m
Frame size/#Hl B & ID 047 ~ ID 255

ordering code 17 £ X #8/3Y S #xiF it BB
ID 90 - 32 Pz So MOTOR

MODEL SIZE Ratioi JiEk: - Backlash Output Input
RIS ki) s Hig i AR A SRS

047 : 3, 4, 5, 6. 8, 10 Po: HEBRE S2: Stand fRA&ER ; g
064 _ La: . ST: Special requirle EE AR
090 : ?5156 123(125 TN APHHEEZk RhE, MERS

: 30 32. 36. 40, Pty AR
140 ; 48, 64 R+t

200

IDR series

Precision Planetary Gear Boxes

Rotio/ig % kb i=3:1 ~100:1
Backlash/[51 72 [&] fg <4 arcmin

Output torque/54E ~2000N.m

Frame size/#{lEI & IDR 047 ~IDR 255

ordering code 17 £ X #3/3Y S #xiF 1t BB
IDR| 90 = 32 P2 S2 MOTOR

MODEL SIZE Ratioi E{#EE i : Backlash QOutput Input
RIS A i iR i ZaeBYsC Fl RES
047 : 3.4, 5, 6, 8, 10 Po: HEBHE S2. Stand #EdE st . .
064 La: ) ST: Special requirle AR R
: 9. 12, 15, 16, Pi: % AR EER AR, AFEBRS

090
, 18, 20. 24. 25. e =
: 30. 32. 36. 40. Pe: ik o L LR B

48, 64 R

140
200




ID/IDR % 5147 B & %2 iR & 27

R WL $ K 45 AR

LI b
4
5
7
10
20
25
35
40
50
70

BRI H 15 Tan

16
21
31
61
91

AEAET e’ Nm
ETE i N RN rpm
N ﬁ])\ﬁzz 46n-s rpm

BIEE EHEPO arcmin

R EEP1 arcmin

<5
P2 arcmin zg
HFE R T Nm/arcmin 82
K S  EEMaks® 430
B4l [E S1Fzs N 2990
EEES

=97%

[+]
BME n Yo =94%

; ; 3.0 5.6 11.9
-2 ; ; 3.7 7.3 15.5
g 3.5 6.5 15.9
EREE -10C-~+90TC
Nk & HEEAE (NYOGEL 792G )
P3P & R 1P65
LI F [ ERAE
B ZE (n1=3000rpm, 7 f1%; ) =63 |

BUIRALFE TR E
Hig 1D047 D100 D140 1D200 1D255
4 0.03 2.87 7.54 25.08 58.31
5 0.03 2.71 7.42 23.29 53.27
6 0.03 2.62 7.14 22.48 50.97
10 0.03 2.57 7.03 22.51 50.56
20 0.03 0.47 2.71 7.42 23.29
25 0.03 0.47 2571 7.42 23.29
35 0.03 0.47 2.71 7.42 23.29
e F 40 0.03 0.44 2.57 7.03 22.51
il 50 0.03 0.44 2.57 7.03 22.51
70 0.03 0.44 2.57 7.03 22.51
80 0.03 0.44 2.57 7.03 22.51
16 0.03 0.47 2.71 7.03 23.29
21 0.03 0.47 2.71 7.03 23.29
31 0.03 0.44 2.57 7.03 22.51
61 0.03 0.44 2.57 7.03 22.51
91 0.03 0.44 2.57 7.03 22.51

1R EE (i=Nin/Naut ) 2.5 KINIE 1 4ET28=60% of TanoT 3.4 HESE 1000rpmid, 1ER Tt oM E

—657—




ID/IDR % 54T £ i % 5l i 2=

B WL AN = 4 R T
L1=1F2 BiE i=4~10R ~F

ERE R TR
1509409
ADOB4-AD255

B{i: mm

ID100

1D140

D200

1D255

12

20

40

50

80

100

20

50

63

80

125

140

28

40

60

80

100

160

180

47

64

90

110

140

200

255

67

79

109

135

168

233

280

4xM3x0.5P

7xM5x0.8P

7xM6x1P

11xM6x1P

11xM8x1.25P

11xM10x1.5P

12xM16 x 2P

72

86

118

145

179

247

300

3

6

6

8

10

12

77

90

113

138

175

12x6.6

12x9

16x13.5

95

152

212

255

138.2

198.2

254.2

L1

12

12

12

16

20

L2

17

22.5

30.5

L3

6

6

6

8

12

L4

30

29

38

50

66

L5

10

10

15

20

L6

7

8

10

12

18

L7

8

10

12

15

20

L8

27

37

62

69.5

82

L9

7

7

7

10

10

L10

0.5

0.5

1

1

1

1

1

c1

46

100

130

165

215

235

ce

M4 x0.7P

M5 x 0.8P

M6 x 1P

M8 x1.25P

M10x1.5P

M12x1.75P

M12x1.75P

cs

=11

*<=14/<=16

=19/=24

=32

=38

<48

=55

c4’

30

34

40

50

60

85

116

C5'as

30

50

80

110

130

180

200

cse*

3.5

8

4

5

6

6

6

c7'

48

60

90

115

142

190

220

cs’

19.5

19

17

19.5

22.5

29

63

ce*

70

82.5

99.5

121.5

151

199.5

256.5

Cc10°

13.25

13.5

10.75

13

15

20.75

53.5

oD

56x2

66x2

90x3

110x3

145x3

200x5

238x5

4.C1~-C102ARIRED A EREZ R, WLEMSE “FIENER" KHERZ R,
*IDO9OM1 $2HC3<24T ik,

*ID064M1 5,10EEAELIRHC3<16,

—658—




ID/IDR % 54T £ ¥ %8 5 & 27

B WL AN = 4 R T
L2=2E& i & tki=20~100R ~F

RSN -
ADDB4

—-AD255

B{i: mm

ID100

1D140

D200

1D255

12

20

40

50

80

100

20

50

63

80

125

140

28

40

60

80

100

160

180

47

64

90

110

140

200

255

67

79

109

135

168

233

280

4xM3x0.5P

7xM5x0.8P

7xM6x1P

11xM6x1P

11xM8x1.25P

11xM10x1.5P

12xM16 x 2P

72

118

145

179

247

300

3

6

6

8

10

12

53.4

77

102

125

160

8x5.5

12x6.6

12x9

16x13.5

95

152

212

255

89.2

138.2

198.2

254.2

L1

12

12

16

20

L2

13.5

17

22.5

30.5

L3

6

6

8

12

L4

30

38

50

66

L5

10

15

20

L6

7

10

12

18

L7

8

12

15

20

L8

60

132.5

L9

7

7

10

10

L10

0.5

0.5

1

1

1

1

c1t

46

70

130

165

200

ce’

M4 x0.7P

M4 x0.7P

M5 x 0.8P

M8 x1.25P

M10x1.5P

M12x1.75P

cg’

=11

*=11/=12

*<14/<15.875/<16

=32

=38

=48

c4’

30

34

34

40

50

60

85

C5%s

30

50

50

80

110

130

180

ce’

3.5

8

8

4

5

6

6

c7’

48

48

60

90

115

142

190

cs’

19.5

19.5

19

17

19.5

22.5

29

co’

97.5

108

134

160

204

248

311.5

c10°

13.25

13.25

13.5

10.75

13

15

20.75

oD

56x2

66x2

90x3

110x3

145x3

200x5

238x5

5.C1~C10RAHIRAESXERIRZ R, LM% “BHENER" KHERZ R,

*ID064M1 20~50i % L 2 HtC3= 127 i,

*IDO90M2 20~50ii# k2 H#C3<15.87/< 167 ik,




_L10x45°

L3

ID/IDR % 54T £ i % 5l i 2=

IR HL S R 3 R~

L2=2F% R i#Etki=16,21,31,61,91 R~

|

N

i

E.%R e
150 9409
ADOB4-AD255

o
e
[=]
=4

B{i: mm

ID100

1D140

D200

1D255

12

20

40

50

80

100

20

50

63

80

125

140

28

40

60

80

100

160

180

47

64

90

110

140

200

255

67

79

109

135

168

233

280

4xM3x0.5P

7xM5x0.8P

7xM6x1P

11xM6x1P

11xM8x1.25P

11xM10x1.5P

12xM16 x 2P

72

118

145

179

247

300

3

6

6

8

10

12

55

77

90

113

138

8x5.5

12x9

16x13.5

95

212

255

89.2

198.2

254.2

L1

12

12

16

20

L2

13.5

17

22.5

30.5

L3

6

6

8

12

L4

30

38

50

66

L5

10

15

20

L6

7

10

12

18

L7

8

12

15

20

L8

32

79.5

82

L9

7

7

10

10

L10

0.5

0.5

1

1

1

1

c1°

46

70

130

165

215

ce*

M4 x0.7P

M4 x0.7P

M5 x 0.8P

M8 x1.25P

M10x1.5P

M12x1.75P

cg’

=11

*=11/=12

*<14/<15.875/<16

=32

=38

=48

c4°

30

34

34

40

50

60

85

C5°s

30

50

50

80

110

130

180

[of<5

3.5

3.5

8

4

5

6

6

c7*

48

48

60

90

115

142

190

cs*

19.5

19.5

19

17

19.5

22.5

29

co*

100

106

130.5

149

205

247.5

323

c10°

13.25

13.25

13.5

10.75

13

15

20.75

oD

56x2

66x2

90x3

110x3

145x3

200x5

238x5

6.C1~C10RAHIRAEDXERIRZ R, LM% “BHENER" KHERZ R,

*IDO6OM1 16~31ELEHL L IRMC3= 127,

—660—

*ID090M2 16~3 1 M LR {#£C3=15.875/<167 ik,




ID/IDR % 5147 B & %2 iR & 27

R WL $ K 45 AR

AL B SR
Hg IDR047 | IDRO64 | IDR090 | IDR100 | IDR140 | IDR200 | IDR255
19 48 130 270 560 1100 1700
22 60 160 330 650 1200 2000
19 50 140 300 550 1100 1800
14 40 100 230 450 900 1500
- 42 140 330 550 1100 1700
- 40 100 230 450 900 1500
19 - N - N
22 60 160 330 650 1200 2000
19 50 140 300 550 1100 1800
19 48 130 270 560 1100 1700
22 60 160 330 650 1200 2000
19 50 140 300 550 1100 1800
14 40 100 230 450 900 1500
- - 140 300 550 1100 1800
= = 100 230 450 900 1500
SEA ST Nm MEFMEHHAE
BEMANFEEN N rpm 4000 4000 3000 3000 2000
K B NFE BN e rpm 8000 8000 6000 6000 4000
B EEPO arcmin zi e zi zi s
=4 =4 =4
=7 =7 =7
R EP2 arcmin zg zg zg
¥ R4 Nm/arcmin 31 151 440
A #J EMaks’ N 235 430 1300 3064
AV J1F2s’ N 2310 4800 6200 5450
R hr 30000"
. =95%
% n % =92%
= 5.9 10.5 21.9
o= kg , , 45 9.8 20.1
{ERIR T -10C~+90C
Nk & HiiEEAE (NYOGEL 792D )
B3P 5 IP65
LEF [ ERAE
B Z{E (n1=3000rpm, 7 f1%; ) =68 |

BE W H J15ETan

n
N

REEEEP1 arcmin

I LIN LI

o ||

IV LIS TN
O~

I
©

BIRALFE TR E

g IDR0O47| IDRO64 | IDR090 | IDR100 | IDR140 | IDR200 | IDR255

0.09 0.35 2:25 6.84 23.4 68.9 135.4

0.07 1.87 6.25 21.8 65.6 119.8

119.8
HIRSE1

20

25~100

140~200 0.31 1.87

TRELL (i=Nin/Now ) o 23K INFE N 4ET28=60% of Tanor, 3.5 HEE 1000rpmid, (£ FHi HiP O AE
EEEEERERES a2z —.




I o—
EWERTHR | =
1S0 9409
ADOB4-AD255

B WL AN = 4 R T
L1=1F2 BiE tki=4~20R ~F

ID/IDR % 5117 £ 1 %8 I i =5

B{i: mm

IDR064

IDR110

IDR140

IDR200

IDR255

12

20

40

50

80

100

20

31.5

63

80

125

140

28

40

80

100

160

180

47

64

110

140

200

255

67

79

109

135

168

233

280

4xM3x0.5P

7xM5x0.8P

7xM6x1P

11xM6x1P

11xM8x1.25P

11xM10x1.5P

12xM16 x 2P

72

118

145

179

247

300

3

6

6

8

10

12

8x5.5

8x5.5

12x6.6

12x9

16x13.5

89.2

108.2

138.2

198.2

254.2

12

12

12

16

20

13.5

13.5

A7

22.5

30.5

6

6

6

8

12

30

29

38

50

66

7

10

10

15

20

4

7

8

10

12

18

107.5

334.5

4

7

i

7

10

10

0.5

0.5

1

1

1

1

1

46

70

100

130

165

215

235

cz’

M4 x0.7P

M5 x 0.8P

M6 x 1P

M8 x 1.25P

M10x1.5P

M12x1.75P

M12x1.75P

[okc)

=11

=14/=16

=19/=24

=32

=38

<48

=55

c4'

30

34

40

50

60

85

116

30

50

80

110

130

180

200

cse*

3.5

8

4

5

6

6

6

48

60

90

115

142

190

220

cs

19.5

16

17

19.5

22.5

29

63

co*

104.25

116.5

158.5

199

245.5

316

398.5

c1o0’

13.25

138.5

10.75

13

15

20.75

53.5

C11*

74

81.5

107.5

134

164.5

213.5

268.5

4CTI-CIOZARFRESEEREZ R, LM% “HEIER" RHERZ R,

—662—




ID/IDR % 54T £ ¥ %8 5 & 27

B WL AN = 4 R T
L2=2E& i & tki=25~200R ~F

EMER TR

1SO 9409
AD0D64-AD255

B mm

IDR047

IDR064

IDR090

IDR110

IDR140

IDR200

IDR255

12

20

31.5

40

50

80

100

20

31.5

50

63

80

125

140

28

40

60

80

100

160

180

47

64

90

110

140

200

255

67

79

135

168

233

280

4xM3x0.5P

7xM5x0.8P

11xM6x1P

11xM8x1.25P

M10x1.5P

12xM16 x 2P

72

145

179

247

300

3

6

8

10

12

8x5.5

12x6.6

12x9

16x13.5

108.2

138.2

198.2

254.2

L1

12

12

16

20

L2

13.5

A7

22.5

30.5

L3

6

6

8

12

L4

29

38

50

66

L5

7

10

15

20

L6

4

8

10

12

18

L8

122

333.5

L9

4

7

i

7

10

10

L10

0.5

0.5

1

1

1

1

1

c1®

46

46

70

100

130

165

200

cz’

M4 x0.7P

M4 x 0.7P

M4 x0.7P

MEx 1P

M8 x 1.25P

M10x1.5P

M12x1.75P

c3g’

=11

=11/=12

<14/</15.875<16

=19/=24

=32

=38

=48

c4°

30

30

34

40

50

60

85

C5%s

30

30

50

80

110

130

180

(o153

3.5

3.5

8

4

5

6

6

G

48

48

60

90

115

142

190

(of:)

19.5

19.5

16

17

198.5

22.5

29

c9’

103.25

108.25

128.5

166.5

209

269.5

340

c10°

13.25

13.25

13.5

10.75

13

15

20.75

ci1®

74

74

81.5

107.5

134

164.5

213.5

5.C1-CIO2aHRH S RERIRZ R, LM% “HEIER" RHERZ R,

—663—




	655
	656
	657
	658
	659
	660
	661
	662
	663

